<E>Hik

INERE - Z3/ANERE B - R OHR (S60~H23)

)T I7DEBERBED, 2FRB LA ZEFRBEELSILHTT,
EREHLE, TRTOFEROREHMDAF T,

BENER REB-FZRBOZEL
600 6
\ 2 REH < ETEFRHY \
500 - 12 12 12 12 12 12 14
2 111 11 11 1 12
12400 10 10 10 4 10 10 10 it
= 9 9 1102
= 8 8 8 10 58
% 300 7 o 1lg F
~ ) 288 285 289 0
A 200 1002860 Mo | ¢ %
~— 1 9 P 4
100
2
0 0
SsS$SSSHHHHHHHHHHHHHHHMHMHHMHMHHMHH
6 6 6 6 12 3 4567891111111 1112222
01 23 0123456789012 3
ZEMNMR REH-FHREOEL
600 6
e LREH —— EEYGRH
500 114
11 112
I8 400 |4 10 10 10 10 10 =
= 10 @
# 300 g F
~ iﬁ&
A 200 6 %
~ 4
100
2
0 0
s SSSHHHHHHHHHHHHHMHHMHHHMHUMHHHH
6 6 6 6 12 3456789111111 111122 22
01 2 3 o 1 4 5 8 9 01 2 3




